# Bid Tabulation IFB # DPW-20-B-012 Sewer Rehab Project

Bids due Sep 26, 2019 @ 11:00 a.m

Vendor	В	Base Bid	Bond	Addenda	Signature Page
Green Mountain Pipeline Services \$		444,766.88	×	×	×
Kenyon Pipeline	↔	\$ 378,890.00	×	×	×
Natl Water Main & Cleaning Co	€9	287,740.00	×	×	×
			:		



# ATTACHMENT B

### **BID FORM**

# **BASE BID - FY20 SEWER SYSTEM REHABILITATION**

The work of the General Bidder, being all work covered by items 1 through 14, inclusive.

Item	Item Description and	Units	Estimated	Unit Price	Extended Amount (In
No.	Unit Price in Words		Quantity	(In Figures)	Figures)
1	Mobilization and Demobilization  TWENTY-ONE THENSEND ON HUMBED SCIENTS  Dollars and Hirty-Eight Cents Nine  No more than 5% of Items 2-14 inclusive	LS	1	<sup>5</sup> 21,179.38	821,179.38
2	Sewer Pre-Rehab Cleaning and CCTV Inspection  Three Dollars and fifty Cents	LF	4,175	\$3,50	\$14,612.50
3a	CIPP Lining, 16-inch Sewer Pipe  Fifty - five  Dollars and Zero Cents	LF	640	\$ <sub>55,00</sub>	\$35,200.00
3b	CIPP Lining, 12-inch Sewer Pipe  Forty - Five  Dollars and ZECO Cents	LF	920	845.00	\$41,400.00
3c	CIPP Lining, 10-inch Sewer Pipe  Thirty - Ni NC  Dollars and 2ECO Cents	LF	1,460	\$39.00	\$56,940.00
3d	CIPP Lining, 8-inch Sewer Pipe  Thisty - Sever  Dollars and ZECO Cents	LF	1,155	\$37.00	\$42,735.00
4	Cut Protruding Service Connection  One thousand  Dollars and ZEFO Cents	EA	1	\$1,000.00	\$1,000.00
5	Grout Opening to Stop Leak at Tap  Owe Hoいぶるいさ  Dollars and スピノの Cents	EA	10	\$1,000.00	\$10,000.00
6	Heavy Cleaning  Six  Dollars and ZCCO Cents	LF	300	\$6.00	1,800.00
7	Reinstate Service Connection with Cutter  Two hwored  Dollars and Zero Cents	EA	57	\$ z00.00	11,400.00



Item No.	Item Description and Unit Price in Words	Units	Estimated Quantity	Unit Price (In Figures)	Extended Amount (In Figures)
8	Lateral Connection Repairs (LCR) Two thousand four hurdred Dollars and 2800 Cents	EA	57	\$2,400.00	\$136,800.00
9	Sewer Manhole Cementitious Lining Five hundsed fifty Dollars and Zero Cents	VF	60	\$50.00	33,000.00
10	Manhole Grouting to Stop Leak  Nine hundred  Dollars and 2000 Cents	EA	4	900.00	\$3,600.00
11	Repair Manhole Bench and Invert  One thousand five hundred  Dollars and Zero Cents	EA	3	\$1,500.00	\$4,500.00
12	Police Detail (Allowance)  Thirty Thousand Dollars and Zero Cents	LS	1	\$30,000	\$30,000
13	Traffic Management  FIVE MUNDIED  Dollars and ZECO Cents	LS	1	\$500.00	\$500.00
14	Miscellaneous Items  One hundred  Dollars and Zero Cents	LS	1		#100.00
				Total	\$444,766.88

# TOTAL FOR BASE BID

Total Amount of Bid (Basis of Award) (Items 1 through 14 inclusive).						
\$ 444,766.88						
(Amount in figures)						
Four hundred forty-four thousand seven hundred sixty-six dollars						
(Amount in words) and eighty-eight cents						



# **ATTACHMENT B**

# **BID FORM**

# **BASE BID - FY20 SEWER SYSTEM REHABILITATION**

The work of the General Bidder, being all work covered by items 1 through 14, inclusive.

Item	Item Description and	Units	Estimated	Unit Price	Extended Amount (In
No.	Unit Price in Words  Mobilization and Demobilization		Quantity	(In Figures)	Figures)
1	Ten Thousand Dollars and Zero Cents	LS	1	\$10,000.00	\$10,000.00
	No more than 5% of Items 2-14 inclusive				
2	Sewer Pre-Rehab Cleaning and CCTV Inspection  Eight Dollars and Zero Cents	LF	4,175	\$8.00	\$33,400.00
3a	CIPP Lining, 16-inch Sewer Pipe Fifty Two Dollars and Zero Cents	LF	640	\$52.00	\$33,280.00
3b	CIPP Lining, 12-inch Sewer Pipe Twenty Eight Dollars and Zero Cents	LF	920	\$28.00	\$25,760.00
3с	CIPP Lining, 10-inch Sewer Pipe Twenty Four Dollars and Zero Cents	LF	1,460	\$24.00	\$35,040.00
3d	CIPP Lining, 8-inch Sewer Pipe  Dollars and Cents	LF	1,155	\$22.00	\$25,410.00
4	Cut Protruding Service Connection Four Hundred Dollars and Zero Cents	EA	1	\$400.00	\$400.00
5	Grout Opening to Stop Leak at Tap  Four Hundred  Dollars and  Zero  Cents	EA	10	\$400.00	\$4,000.00
6	Heavy Cleaning Eight Dollars and Zero Cents	LF	300	\$8.00	\$2,400.00
7	Reinstate Service Connection with Cutter One Hundred Fifty Dollars and Zero Cents	EA	57	\$150.00	\$8,550.00



ltem No.	Item Description and Unit Price in Words	Units	Estimated Quantity	Unit Price (In Figures)	Extended Amount (In Figures)
8	Lateral Connection Repairs (LCR) Two Thousand Five Hundred Dollars and Zero Cents	EA	57	\$2,500.00	\$142,500.00
9	Sewer Manhole Cementitious Lining One Hundred Ninety Dollars and Zero Cents	VF	60	\$190.00	\$11,400.00
10	Manhole Grouting to Stop Leak One Thousand Dollars and Zero Cents	EA	4	\$1,000.00	\$4,000.00
11	Repair Manhole Bench and Invert  One Thousand Seven Hundred Fifty  Dollars and Zero Cents	EA	3	\$1,750.00	\$5,250.00
12	Police Detail (Allowance) Thirty Thousand Dollars and Zero Cents	LS	1	\$30,000	\$30,000
13	Traffic Management Five Thousand Dollars and Fero Cents	LS	1	\$5,000.00	\$5,000.00
14	Miscellaneous Items Two Thousand Five Hundred Dollars and Zero Cents	LS	1	\$2,500.00	\$2,500.00
				Total	\$378,890.00

# TOTAL FOR BASE BID

Total Amount of Bid	(Basis of Award)	(Items 1	through	14 inclusive).
---------------------	------------------	----------	---------	----------------

\$378,890.00

(Amount in figures)

Three Hundred Seventy Eight Thousand Eight Hundred Ninety Dollars and Zero Cents (Amount in words)



### **ATTACHMENT B**

### **BID FORM**

### **BASE BID - FY20 SEWER SYSTEM REHABILITATION**

The work of the General Bidder, being all work covered by items 1 through 14, inclusive.

Item No.	Item Description and Unit Price in Words	Units	Estimated Quantity	Unit Price (In Figures)	Extended Amount (In Figures)
1	Mobilization and Demobilization <u>etch + the send five hordered</u> Dollars and Zero Cents  No more than 5% of Items 2-14 inclusive	LS	l	90 90 9008	\$\$00. ∞
2	Sewer Pre-Rehab Cleaning and CCTV Inspection  two Dollars and Zww Cents	LF	4,175	. a.	8350.
3a	CIPP Lining, 16-inch Sewer Pipe  F16+y Four  Dollars and F16+y Cents	LF	640	54. 5 <u>0</u>	34880.
3b	CIPP Lining, 12-inch Sewer Pipe  tuenty Seven  Dollars and Zero Cents	LF	920	a7.°	24840.
3c	CIPP Lining, 10-inch Sewer Pipe  + wenty Feve  Dollars and Zero Cents	LF	1,460	25.°°	36500.
3d	CIPP Lining, 8-inch Sewer Pipe  twenty Four  Dollars and Zero Cents	LF	1,155	24.00	27720°
4	Cut Protruding Service Connection  +wo hundred Fifty  Dollars and zero Cents	EA	l	250.	250.
5	Grout Opening to Stop Leak at Tap  two hundred Frety  Dollars and  Zero Cents	EA	10	a 50.	2500.
6	Heavy Cleaning  Six  Dollars and Zuro Cents	LF	300	6,00	1800.00
7	Reinstate Service Connection with Cutter  SIX hundred Fifty  Dollars and Zuo Cents	EA	57	650.°	37050.



Item No.	Item Description and Unit Price in Words	Units	Estimated Quantity	Unit Price (In Figures)	Extended Amount (In Figures)
8	Lateral Connection Repairs (LCR)  one thousand  Dollars and  Zero Cents	EA	57	1000.00	57600.
9	Sewer Manhole Cementitious Lining  + wo handred  Dollars and  Z-vo Cents	VF	60	200,	12000
10	Manhole Grouting to Stop Leak Scuen hundred Fifty Dollars and zero Cents	EA	4	750.00	3000.
11	Repair Manhole Bench and Invert  Seven hundred Fifty  Dollars and zero Cents	EA	3	750.	2250.
12	Police Detail (Allowance) Thirty Thousand Dollars and Zero Cents	LS	1	\$30,000	\$30,000
13	Traffic Management  one hundred  Dollars and  Zew Cents	LS	1	100.00	100.
14	Miscellaneous Items  one thousand  Dollars and  Zero Cents	LS	1	1000.00	1000.00
				Tota	287740.00

### TOTAL FOR BASE BID

Total Amount of Bid (Basis of Award) (Items 1 through 14 inclusive).

\$ 287740. (Amount in figures)

two hundred eighty seven thousand seven hundred Forty dollars and zero cents (Amount in words)